AHFSA -2 <3x+4 < 11 & W&k A5 BF F5HH?

® -1,0,1 ® 0,1,2 3)-1,0,1,2

@ -2,-1,0,1 ®0,1,2,3




ol Tehm

il

O]oo

@x<—33€%x>2
@ x<-1F=x>4

® x<1E=x>6

5to] OJAHEEA] 2% + x - 6> 05 EH?

@ x<-2F=x>3

@ x<0E=x>5

B

X

Ay

oL

Aa?+x-6=
EEr=2

04 (x+3)(x—2)=0




A A (-2,2), B (5,5) M &2 A=l Ade x5 A H P 9

@ (1,0) @ (g,0> ® (2,0)

x % 919 L P (x,0)0]2 31, AP° = BP 0|22
(x+2)2+22=(x-5)2+52= 14x=42=>x=3
. P (3,0)




® y=-2x-2

A9] 7]

< A

St A} S

77 23 7

oz 72

5

3

=-2(x-2)
—2x+1

y+3
y




2x2 +4x-1=09 F Z& o,pt S W, 0?8 + ap? ] 227

® -2 @ -1 @0 @1 ® 2

B

1
a+pB=-2, a'ﬂ=—§

sd?B+ap?=aBla+p) = —% x(=2)=1




ohg ol

ook

o] Az

i)
rlr
i

Fxato] & Ao A2?

1 - 3
®y=§x2+x—1:x=—1%_‘“ﬂ, 3‘45’3&—5

1 i 2
@ y=_§x2_x_2:>x=—1‘éfq1, Zﬂ%ﬁ—g

1 - 2
@y =-3+20-12 = A, Aot
@ y=2x>+12x=>x=3 4 o, TG -3

® y=-4br-5=x=> A Hugt -

[\)

B

1 1 3
@y=§x2—|—x—1:§(x+1)2—§
> x=-19 1, Mgt -
1 1
@y:—axz—x—2:—§(x+1)2—g

= x=-12 0, Ak

@y=2x2+12x=2(x+3)2-18
=x=-3 4 o, g -18
2

5 - )
> =2 Q) A 2




: 5(x—9) <4x-7
4x-T7<5(x-8)

z5e o4

SH

SollA 7+

® 37

5x—45<4x-7, x<38
4x—T<b5x—40, 33<x
o33 <x<38




BEA |- 9 < kS WESHS BE ¢ 0] gho] HEA] k2 -8 <82
k=
pus

2w, A ko] HHE2? (F, k> 0)

-k<x-2<k

—k+2<x<k+2

ojuj, o] 54| BE 57} x? — 8| < 8= WSt H
—k+2>-4, k+2<40]ojofstEE

k<6, k<2

L0<k<2

mpetA A ko] MU 20]T




5 4 A(L3) B(4,0) 2 9l AE AB 221 2ulEshs P o}
92k A Qe & o) AR PQe] Aelg Fohu?

@2v2 ®3v2 @ivi ©5v2

P
(2x4—1x1 2x0-1x%x3
2-1 ’ 2-1

 PQ= V42 4+ 42 =42

)= -3




10. Al A A (-1,1), B (-3,-2), C (2,-1)9]

@(4,2) @ (2,4) ® (3,5)
@ (5,3) ® (1,-5)

stel A2

ABC

D 7}

B

D (a,b) 2 58 BRAPAP Y] HA=R
izt & 4%@ BC 9 24 dx)gt
- b 2

» (30

" a—4,b—2

S—




4n
»,
>,
=
Il
(U8
=
+
[\]
<
I
.
=
I
—
1o
El
o
o
)
s
rr
_IE
-

@ —x+y-14=0

@x+y-14=0

® x-y-14=0 ® xty+14=0

® -x+y+14=0

B

A

—

>

=3x+2,y=4x-19
4L

3x-y+2)-m+(4x-y-1)=0

m £ 735) 2 HEhd 4 9l

s (3mA 4)x— (m+ L)y + (2m—1) = 0

3m+4  2m-1

mt 1 ml

< sty Agol gonz

o] A4 9] 7|27 —1 o|t},

3m+ 4
S = -
utepd, 2T

N o<
i

Ry
o

o
=
y

—_— —~

Sy =

T AM & F51H 3x + 2 = 4x— 1 o)A

x 44, y dge] Zod 777t -1 0B




12.

e 9 w42 = 2 of fste] 712717k m Q) Al

FHe Bgolet.

k!

Al
al

D a2 +y? =2 o HstL 712717k m Q)
A0 HAAE y = mx + k 2 512
ARy =mx+ kS Y] FAA

x? 4+ y* = r? of tidste] 2|54,

(1 4+ m?)x® + 2mkx + =0

o] olabA A o] WHEAS D o bl Uzt 2ol Hs

D =0 9|~

= =[]

whebd ok gl WAle

y=mx=+

o

A y=mx+ k5 L LG x2 +y2 =729
iAo, x% + (mx + k)2 =12

(1 +m?)x? + 2mkx + k> —=r? =0

o] oA A S| WAL D o} B,

g =m?k? — (1 +m?)(k? = r?) = m?r® + r? — k?
U} M Ao] Yok D=0,
Zr2m? 4+ 1) =k k=+rVm2 + 1
wjepd okt A e
y=mx+rvVvm? +1

(7B k2 =% (W) rvm? +1




13. vs 2Pt g+

ol

e

\rlr

Q@ 2+y* 4+ =(x+y+2)?-2(xy+yz+2x)
© x* 4y = (x+y)* - 2xy

© PH+x+D(?-x-1)=x*+x+1

@ x*-x-2=(x-2)(x+1)

® (x-y)® =x*-3x%y +3x° —)*

v o000 @ oo

® @

© x+1=AR gt HAstA
(+A)(2-A)=xt-A2=x"-x2-2x-1




14. 98 F 2% —xy—y* —dx+y+29 A A7

©2x+y—2 @ 2x-y+2 ® x-y+1

@ x+y-1 ® x-2y-1

B

xoll gk WA= o 2 A 2fstH
2% — (y+4)x—-y> +y+2
=22 - (y+4)x-(+1)(r-2)
={2x+ (y—-2)Hx—-(y+ 1)}
=(2x+y-2)(x-y-1)




20073 - 1
15, ————————— 9| 3t2?
5 2007)(2008—1—1—4 &

@® 2004 @ 2005 @2006 @ 2007 ® 2008

B

2007 = a2 =11
F017 418 gl et 4o Agoin
at-1 at-1
ala+1)+1 T @ ta+l
(a-1)(a®+a+1)
B a?+a+1
=a—-1=2007-1 = 2006




16.

1 %% = 2kx + k* =4k -5 = 0°] M2 & F 5]

xol Tk o 24
4 k01 kel W9 a <k <bolh ol wl a5

AdE 7 o, 4

%2

3 7
@-Z @ — ®_Z @_4_1 ©-7

X2 —2kx + k% —dk-5=00] N2 Ot ATE 7pxof pE 2
D
7 K- (¥ —dk=5) =k -k + 4k +5>0

5

k>—1®

& islo] ool B e
F2Yd2%<0 k<0---©
=2l e

k2 =4k = 5> 00°llA] (k+1)(k-5)>0
..'k<_1’ k>5...©

@, ©, ©°l 9l
5
_- -1
4<k<
5

= = -1
a 4’b
a-i-bz——_l:_9




17.

AG7t Feladd o)A AEA ax® + bx+ ¢ = 09 &0l 2- V3

o, <=0 o) gre9
a

® 3 @1 @) @ 6 ® 7

B

A%7t 2591 oA Aol A 2 - V3ol 2old 2+ V3R

ik

2} A58l BAN 2Jgte] -2 = (24 ¥B) + (2~ ¥B) = 4
c

—=(2+V3) (2- v3) =1

g C_b:5+(—é>=1+4=5
a a a




= -x+->x-0.6 i
AYESA 5’ x45r2 g dEE?
3 9
D x<3 @ x>3 ® x>4
@ 3<x<4 @7t 2t

. 2
(i) gx+ g >x=06 1A 20+ 12> 30x - 18

L x<3
x+2 x-4
<
3

(ii)2- oA 18— 3x—6 < x— 4
>
H

x>4
A A O] S x < 3, x > 40| B2 |7} giTk.




,=3), B(=5,4)°llA &2 A= A= y= 12 A P9
?

® (0,1)

POl & E (0,a) = SHH

AP =BPo|B&

V(0—=(-2))%+ (@ - (-3))?

= VO-B)+ (@D a=2
L P=(0,2)




20.

HA9 714715 mol=#tal 51 A (0,2) &
A= AL y =mx + 2

A FA (0, 0) oA AA y = mx + 27HA] 9]
A= 49| §iA 59| Zolet L

= 2

T NmE 1

cm=\E(m>0)

=1




